ksheet - Rectilinear Motion (horizontal motion)

le position of a skateboarder at any time t (in seconds) is given by the func

s(t) = 1° — 8#° + 8% measured in feet.
1) What are the velocity and acceleration functions in terms of t?
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Nhen is the skateboarder at rest? What is the position of the skateboar
n it is a rest?
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What is the position of the skateboarder when its velocity is 15 feet per
zond?
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What are the position, velocity, and acceleration of the skateboarder at
ee seconds and five seconds?
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What is the total distance traveled by the skateboarder in the first fiv
conds? + DA
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What is the displacement of the skateboarder after the first five secon
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When is the skateboarder moving to the right and to the left? Use inte
ation for your answers.

R: (0, .556) (4,775,6°)
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"he position of a particle is at any time t (in seconds) is given by the func
s(#) = 2+° — 27+ + 15 measured in feet.

) What are the velocity and acceleration functions in terms of t?

() = (£*-27
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When is the particle’s velocity 10.5 feet per second? What is its positiot
t time?

V()= 10.5 ,5(?.5) = -3].25H
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What is the acceleration of the particle when its position is 6.25 feet?
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What are the initial position, velocity, and acceleration of the particle?
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What is the total distance traveled by the particle from one second to <
:onds?
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f) What is the displacement of the particle for the same time frame?
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) When is the particle moving to the right and to the left? Use interval
otation for your answers.
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